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This chapter is all about ideologies.

 

These are specific political doctrines which each interpret political concepts in a different way and give different values to different concepts.

 

Political concepts include; Liberty, equality, democracy, justice etc.

 

Each ideology understands each concept differently and  holds some as more valuable than others and may disagree with some entirely.

 

Ideologies are often grounded in different interpretations of human nature.

 

This module looks at four different ideologies:

 

1. CLASSICAL LIBERALISM: THE STATE AS A NEUTRAL UMPIRE

 

Liberalism begins from the belief that humans are naturally free, thus any restraint on their liberty needs to be justified.
 

The state can enforce laws that restrict liberty so it must be justified, this is done on two grounds;

 

1. It is beneficial, it prevents us from harming each other and punishes us when we do, encouraging cooperation and trust.

 

1. If the state is properly organised we can still retain a large part of our liberty. In a democracy we help to make the laws that we live by and consent to them by doing so.

 

Two philosophers that support this theory are JOHN LOCKE and JOHN STUART MILL.
 

JOHN LOCKE (Two Treatises Of Government,1689)
 

Argues that humans are naturally equal and free.

 

To LOCKE, our natural liberty comes from the Law of Nature;

 

That no person may harm another's "life, health, liberty or property."
And, we should help each other when doing so does not harm ourselves.
 

LOCKE believes this law of nature comes directly from God.
 

Even if we don't believe in God, LOCKE thinks we would arrive at the law of nature through reason.
 

To arrive at the purpose of the state, LOCKE looks to the state of nature.

 

When people break the law of nature in LOCKE's relatively peaceful state of nature we each have a right to punish them.
 

However, this is not enough for three reasons;

 

First, we may disagree on whether someone has broken the law of nature

 

Second, when we punish we are likely to be biased and confuse punishment with revenge.

 

Third, we may lack the ability to punish. If someone punishes a thief in the state of nature, the thief may band together with other thieves to come for revenge.

 

 

The only way that punishment becomes effective is if the punisher is so powerful that it is impossible or at least pointless to resist them.
 

LOCKE's model of the state then answers the three problems above;

 

First, it establishes one interpretation of the law that is common to all people and circumstances. The law is either broken or not, there is little to no debate.

 

Second, the state has no interest in dealings between people and so will be objective in terms of judgement, revenge is a motive for the individual but not for the state.

 

This makes it a NEUTRAL UMPIRE in dealing with citizens.

 

Third, the state holds a "monopoly of violence" (MAX WEBER) over its citizens. They cannot escape the punishment of the state as it is far too large and powerful.

 

JOHN STUART MILL (On Liberty, 1859)
 

Reinforces the idea of the neutral umpire using his 'harm principle';

 

"The only purpose for which power can be rightfully exercised over any member of a civilised community, against his will, is to prevent harm to others. His own good, either physical or moral, is not a sufficient warrant."

 

MILL backs this principle up with utilitarianism. 
 

Allowing everybody to express themselves and try their own "experiments of living" maximises individual happiness, and, through the observation and practice of each others experiments, social happiness.

 

MILL then thinks that the state must allow individuals to express themselves and experiment with their lives and so the state must remain a neutral umpire to maximise utility.

 

Society under MILL must be neutral on differing conceptions of the good life.
 

In order to protect from the tyranny of the majority, democratic government must be restricted in its actions by the harm principle.
 

2. CONSERVATISM: THE STATE AS AN ORGANIC ENTITY

 

Conservatives value traditional things in their state. Things like a robust law and order system, the family, institutions, hierarchy, slow gradual change etc

 

Most conservatives (including EDMUND BURKE) like to think of the state of the state as a single organism with many individuals composing it. 

 

EDMUND BURKE (Reflections on the Revolution in France, 1790)  
 

Rejects liberty as being good all the time for everyone.

 

 What matters is how liberty is achieved and in what circumstances. 

 

After all, we would not praise a prisoner for achieving liberty from his prison by escaping.

 

BURKE does not condemn liberty and was in fact a major thinker among the liberals of the time but rather, he argues that liberty must be achieved slowly and gradually. 

 

Civil liberties have evolved in England from the Magna Carta slowly and have matured with the society. 
 

BURKE argues this is the best way to achieve liberty and cites the stable and liberal yet still economically powerful society of England as an example.

 

He criticises the fast, unstable forcing of liberty upon the people that happened in the French revolution. 

 

BURKE says this revolution failed for two reasons;

 

First; it attempted unnaturally fast change. BURKE compares the state to a plant. It must grow slowly, respecting the accumulated wisdom of the past. The wisdom of ages is tried and true. If it isn't broken, don't fix it!
 

CRITICISM: It could be argued, especially by MILL, that within a given society there are a huge variety of lifestyles, cultures, political beliefs,  conceptions of the good life etc and as such the state cannot be thought of as an organism.

 

RESPONSE: Regardless of personal tastes and opinions, there is a common morality and set of values and beliefs among a society that bind it together as an organism. This point was argued by JAMES FITZJAMES STEPHEN and LORD PATRICK DEVLIN

 

Second; BURKE takes an empirical approach to politics. He argues that we cannot support speculative approaches to changes in society. The experience of the past is a much more useful tool for social change than abstract political discussion.
 

CRITICISM: This is not always true. While few other theories can say they rely on the previous experience of humanity as a starting point, they can still attempt to make valid criticisms and imagine a practical alternative.

 

RESPONSE: Testing the practical alternatives will mean imposing them on the society with the hope they will work. In the case they don't (French revolution) the state is left in a mess. If the change is what the society really needs, it well develop on its own over time.

 

BURKE's writing does not define conservatism and the ideology's core value can be summarised as such:

 

Change must be made safe. Change is not revolution but gradual growth that is natural to a society. It only occurs as quickly as people can adjust to it, which is slowly.

It does not destroy past institutions but respects and builds on them.
 

A conservative government then exists in order to preserve and protect the gradual change and evolution of society. Its main enemy is social instability which would undermine the organic nature of the growing state.

 

3. MARXISM: THE STATE AS AN OPPRESSOR 
 

KARL MARX (The Communist Manifesto, 1848))
 

MARX begins his theory at the most fundamental level of society. It is a theory of history. He argues that in the beginning three things were a certainty;

 

1. That humans need food and shelter.
 

2. Humans have to produce these things which requires tools and other things.

 

3. Humans reproduce, creating ever more humans.

 

Number two is needed to allow number one. Number two and three are both social activities that require cooperation. Within a society there are different modes of production and modes of cooperation. 

 

MARX calls these differing modes the economic substructure of a society.

 

The substructure of a society at a given time gives rise to things like social custom, law, education, religion culture and institutions. These make up what MARX calls the superstructure.
 

CRITICISM: The one way relationship between substructure and superstructure has been strongly rejected by many, including Marxists. It can easily be argued that the superstructure of culture etc can influence the economic substructure underneath.

 

MARX argues that the state is based on the power relations between the classes. The modern state is based on capitalism, with an inequality of wealth between the capitalists (those who own the means of production) and the workers. The workers are paid by the capitalists but they don't own what they produce.
 

The power of the capitalist class is supported in two ways;

 

First, those with capital have political influence, thus, the state is biased, it is not a neutral umpire, it does not embody inherited wisdom, it seeks to keep the capitalists in power.

 

Second, MARX argues that political theories are not products of pure reason but historical products of the economic substructure that protect the interests of capitalists.
 

This system that is supported by the state oppresses the workers through alienation.
 

The worker is alienated from;
 

1. The product of his or her labour

 

2. The labour itself because it is meaningless, repetitive and unfulfilling.

 

CRITICISM: Work has evolved away from tedious manual labour so it could be argued that alienation is less of an issue in the modern work environment.

 

3. Their human nature due to the boring and pointless nature of the work.

 

4. Their fellow humans because the aim is to create things which can be sold, not things that will satisfy the needs of others.

 

Someone that is alienated may not realise that they are, or feel at a loss because of it.

 

MARX believes that work should include the worker enjoying both the work and its product, they should produce things which meet the needs of themselves and others.
 

CRITICISM: If everybody were to do whatever job they liked whenever they liked (so as to avoid tedious repetitive work), there is no incentive to specialise and the whole population would lose out as a result of people not becoming specialised in one field.

 

MARX also thinks that liberalism is not the answer to alienation. To MARX, liberalism also alienates people from each other and makes them self interested. 

 

This conflicts with MARX's belief that the fundamental human nature is COMMUNAL
 

The state also oppresses the people by giving them a false sense of community.
 

They believe they are all equal under the state when in reality the richer among them are much 'more equal'.

 

MARX believes that at some point, the lower classes will topple their capitalist masters in a violent revolution like those of Russia and China. He believes that communism is the natural end point of society.
 

CRITICISM: Real world communist societies have spectacularly failed while the western capitalist economies have prospered greatly, improving quality of life for all. 

 

Even if we all agreed that MARX was right, could a communist society exist without a state? Is human nature really as good as MARX thinks for a stateless, sharing society to viably exist? All historical examples of communist societies have fallen prey to human greed and become violently oppressive and the exact opposite of what communism is supposed to be about.

 

4. ANARCHISM: THE STATE AS AN OPPRESSOR

 

Anarchism can be further divided into different schools of thought but one thing is constant among them all; that the state should be abolished and replaced by social organisations.
 

But why do anarchists object to the state?

 

Philosopher DAVID MILLER provides this summary of their objection;

 

1. The state claims the complete authority over the rights and obligations of its citizens

 

2. The state is compulsory and members must recognise their obligations.

 

3. The state claims a monopoly on force. Only the state can justify the use of violence. 

 

4. The state is completely distinct from all other social institutions. The people that work for it (politicians etc) tend to form a distinct social class.

 

However, the anarchist's largest objection is that the state violates and undermines liberty. They argue that; 

 

· It enacts laws that benefit itself, not its citizens.
 

· It is excessively punitive, punishing people whenever it can.
 

· It fights wars for its own benefit. 
 

· It unjustly takes wealth from those who produce it.
 

CRITICISM: It can be easily argued that the state is useful; it provides protection for individuals  and encourages cooperation. Liberals would argue that we can still retain all the liberty we need in a well functioning state.

 

RESPONSE: We do not even need the state for the functions of protection and cooperation , they admit that some form of collective body is needed but this body does not need to claim sovereignty over every citizen.

 

 These bodies should be voluntary where people can join or leave as they choose. There could be competition between different bodies, improving each one.

 

CRITICISM: The anarchist view of human nature is too idealist, it only works if we assume that humans are naturally peaceful, altruistic and cooperative. If human beings are as benevolent as anarchists would have us believe, why don't we live in an anarchist state already?
 

RESPONSE: Not all anarchists have such an optimistic view of human nature and, the anarchist state has not developed yet because human beings will take time to realise that our self interest is best served by cooperation. Humans will only reach this enlightened moral state when most of our material needs have been met, this will happen as a result of late capitalism.

 

As mentioned before, anarchism comes in many forms, each with a common lack of state;

 

1. PHILOSOPHICAL ANARCHISM - WILLIAM GODWIN (Enquiry Concerning Political Justice, 1793)
 

Is based on the idea that only the judgement of one's self can impose a duty on one. This is the principle of private judgement.
 

GODWIN argues that all governments conflict with this principle, they force the judgements of the government on everyone, forcing them into a duty which they may not agree. Even in democracy this is true, (MILL's tyranny of the majority, although MILL is not an anarchist).

 

GODWIN also argues from act utilitarianism, saying that allowing each person to live under their own private judgements is what will create the most good.
 

CRITICISM: People do not freely seek to create a utilitarian 'greatest good', the greatest good must be created by laws and a state, so, for now, the state is justified.
 

Philosophical anarchism relies on the idea that: 

 

Humans are, or at some point will be, supremely altruistic and moral beings, that will voluntarily respect the freedom of others and, 

 

This state of being will remain down the generations without the regulation of a state.

 

Both these ideas are highly questionable.

 

2. INDIVIDUALIST ANARCHISM - HENRY DAVID THOREAU (Civil Disobedience, 1849) 
 

Relies on the idea that the individual is sovereign over their own body and property. The only exchanges between individuals are voluntary; gifts, charity, business, contracts etc.

 

This sovereignty is violated by the state, especially through taxation
 

This type of anarchism relies on egoism as the biggest motive in human nature and says that self interest is the best way to create a good society.

 

In this type of state, the free market largely replaces the job of the government. We can voluntarily pay agencies to protect us and solve disputes which will compete in the market for customers.

 

CRITICISM: It is clear that respecting someone else's autonomy is most of the time, not in my self interest, the idea of self interest also conflicts with the natural human tendencies towards family, affection, compassion, altruism etc.

 

3. COMMUNIST ANARCHISM - PETER KROPOTKIN (Fields, Factories and Workshops 1912)
 

Says that our human nature is to be sympathetic, cooperative and affectionate, living under capitalism has distorted our view of human nature and made us believe that we should aggressively compete with each other.

 

Communist anarchists agree with MARX that the state is the oppressive instrument of capitalists but it also uses force solely for its own benefit.
 

Small, local communes with some federal organisation should replace the state. Most crime would disappear once economic equality was achieved and crimes of passion could be punished by the community at the local level.

 

CRITICISM: In such a commune, there will inevitably be lazy selfish people who do not pull their weight, an argument resembling the free rider problem.
 

Some anarcho-communists argue from evolution, they say that when groups of people compete, the more cooperative groups survive.
 

 

 

